B HURE 1417 39
P HRE 1410 147
My bR 42° 47
Jeds  dbfE 43° 00
Oifit K 341m

157
e
0
057

Ol 1 9 HW 34km

o
HEm

flip&h
o

Ml 23km [
O & 294.87km?
N
El4/N=Til
LR
%_w\}\\\
FIL<F1]
‘ W
Freh
£ J1 H m & it *
B304 7 A15H 295.91km? T Bt 20 & 408 L TR 74 (B
PR
FAII84EI0H 1 H 293.96km? KEEBH O 5% 1L BHITHEA
RRfI364E 5 H 1 H 294.71km? IN=L IRt N
mAI614E3 A1 H 295.14km? FEIBHT & ¥ R25 T
P TeAE11H 10H 294.87km? ] 1 b o 1o o 90 5 A B 1) L AR ) AR 0 kA




1. fir & - Hi 2
1) AR D
Hy H 17 ﬂi 18 Jf:ﬁ 19 ﬂi
[ k% [ A% i [ %
FH 29, 107, 887 9.9 28,691, 036 9.7 29. 040. 904 9.8
H 16, 835, 924 5.7 15,782,617 5.4 16, 374, 330 5.6
= Hi 15, 818, 538 5.4 13, 853, 432 4.7 15, 793, 316 5.5
h W 19, 153 0.0 19, 153 0.0 19, 153 0.0
1L R 135,111, 883 45.8 | 134, 859, 584 45.7 | 134, 857,000 45.7
w8 - - - - - -
JE i 487, 263 0.2 484,973 0.2 364, 373 0.1
HME FE M 9, 559, 003 3.2 13, 507, 788 4.6 10, 125, 708 3.4
= O 87,932, 476 29.8 87,673, 544 29.7 88, 297, 343 29.9
B 294,872, 127 100. 0 | 294,872, 127 100. 0 | 294,872, 127 100.0
R R
2) [AEMN (i) (5 H )
op | (O Rkt ORI FD g | E (O ek AR 2
SE | B | AR juln cm m/s X | e | Bd mm cm m/s
TRk 8 6.3[29.1] —26.9 891 115 2.4 19. 1 J]|—4.8|—0.2| —10.6 64 55 1.8
9 7.1129.9| —17.3| 1,027 68 2.3 2 —4.0| 0.4|—11.3 65 81) 2.3
10 6.8(29.9] —25.4| 1,008 75 2.1 3 —1.0]3.2)| —6.0) 46 65) 2.4
11 7.4134.3| —23.4| 1,018 84 2.1 4 461 9.5 —0.3 53 10 2.5
12 7.0131.8| —20.7| 1,392 97 2.1 5 11.4 116. 4 6.7 137 0] 2.5
13 6.1(30.3| —26.6| 1,117 96 2.1 6 16.8 [21. 6 13.0 64 - 1.9
14 7.0128.3| —22.0 952 70 2.0 7 17.5121.9 13.6 84 - 1.9
15 6.8(28.3| —24.7 904 55 2.0 8 21.7126.7 17.3 73 - 1.4
16 7.5132.9] —21.5 973 90 1.9 9 17.5122.0| 12,.9 193 - 1.5
17 6.7(31.9| —22.6| 1,179 92 1.8 10 9.8 [15.3 3.9 46 0) 1.4
18 7.0133.1| —22.3| 1,181 115 2.0 11 2.2 7.0 —3.1 55 7 2.0
19 7.4133.5] —18.5 921 81 1.9 12 —=3.0] 0.7 —7.8 41 22 1.5
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3) BEETOMNZH

( “Fpk 19F 9H KH)

T4 mofE | ADEE T4 [ - NI T4 o | ANHEBE
km' | A/kmt k| A/km kot | A/km
& JiE il 294.870| 232.0|f% BT 2 T H| 0.116] 7,732.8|FE B W 4 T H| 0.056| 5,6%.4
BOmp 3 T H| 0.061| 631L5PEWEEF 5 T H| 0.036| 7,333.3
i K| 6114 20.1|#% B 4 T H| 0.064 SL3PEMC T 6 T H| 0.058] 6,344.8
PN M| 3468 16, 7|[5¢ BT|  0.045| 2,133 3| A B 1 1" H| 0.084| 3,642.9
* H| 5.050 33.7|\fa BT 0.175| 6,21L4|E A B H 2 T H 0.078| 7,564.1
e R 4.538 48.0|f& 1 BT 1 H| 0.159| 50000 7~ ¥ 8 3 T H| 0.073| 5616.4
+ il | 4.592 9.7 £ 1] 2 H|l 0.092| 4,0109|f-E A8 4 T H 0.097| 4,082.5
I B%| 3.418|  232.9|f& {: ET 3 H| 0.080| 7,237.5|(F5 A B 5 T H| 0.093| 6 3656
P! B9l 5.750|  134.6|%r BT|  0.043| 2,395 3| A B 6 T H| 0.071| 6,971.8
T BT 1 1T A 0.088| 4,897.7|4 WPl 0.133] 3,827 1| B8 7 T H| 0.081| 7,654.3
oL ET 2 T B| 0.124| 48145\ BAMT 1 T BH| 0.062| 83548 EATPE 1 T H| 0.153| 4,784.3
ot BT 3 T H| 0.074| 7,384F BH BT 2 T H| 0.090| 562 2(HA 8 2 T H| 0082 275%6.1
OB 4 T B| 0.062| 6,%L6\#& BANT 3 T H| 0.059| 4769.6|EHABV 3 T H| 0.095]| 3,926.3
B BT 1 T H| 0.106| 5839.6|[/F B BT 4 T H| 0.060| 5333.3|& A8 pmE 4 T H| 0075 6213.3
By i BT 2 1 B| 0.068| 51029/ B BT 5 T H| 0.072| 3,708.3|fE A% 5 T H| 0.128] 2070.3
B BT 3 T H| 0.067| 3,940.3|F BHET 6 T H| 0.081| 50864/ %7 6 T H| 0.140| 6,542.9
B4 BT 4 T H| 048] 28| k BT 1 T H| 0.054| 4,48L5|\HAMFREF 1 T H| 0.043| 12,023.3
B3 W 5 T H| 0061 36721k BT 2 T H| 0.038| 4563 ~%m 2 T H| 0.090] 6389
By & 0T 6 T H| 0.076] 3,644.7k BT 3 T HA| 0.048| 4,979.2|H B E 3 T A| 0.108| 6203.7
HHEHRT 1 T H| 0.374] 9786|)k BT 4 T H| 0.065| 3,363.8|fEA%F 4 T H| 0.153] 4,90.4
HHERT 2 17 Bl 0.061| 5803.3|3¢ /= BT 1 T H| 0.089| 665L7||-A 84k 1 T H| 0.089| 587.6
M AERT 3 T B| 0133 525.6|X A BT 2 T H| 0.052| 9,769.2\|& A %42 T H| 0.102| 4,914
HAERT 4 T H| 0202 1027|307 3 T H| 0068 2204 1|F A8 L3 T H| 0112 28839
WA d 1 T H| 0160 3,38L3|C /BT 4 T H| 0.092| 6893 AEI 4 T H| 0119 2613.4
A AL 2 T B|  0.119| 4546214 Y 2.810 19.9FE A 8k 5 T B 0.116| 4,155.2
44k 3 1T H|  0.134| 5947.8|% Fi| 159. 404 0.1|FE A 846 T H| 0102 63431
HAedh 4 T B| 0.213] 3,610 3B ZR| 49.825 -l A ¥ 7 T H| 0.101| 9,217.8
HAeTYHR 1T TH| 0089 356540 &8 1 T H| 0080 81125 Z&FH 1 T H| 0.193| 3,497.4
EATHR 2 T H| 0.080| 295.0(F & BT 2 T H| 0.116| 4.465.5|&AFHT 2 T H| 0.241| 4,390.0
HAeEFYH 3T H| 0087 503000 & B 3 T H| 0.116) L3379 M MMET 1 T H| 0.063| 4,761.9
EAeEFR 4 TH] 0113 3345 1|t B BT 4 T HB|  0.173| 6,005.8||S A fMAT 2 T H| 0.067| 3,955.2
a5 THI 0.209 - B BT 5 T B|  0.000| 454.4|E A fPET 3 T H|  0.037| 4,378.4
A1 T H| 0312 Lek4|th & B 6 T H| 0128 5005.6|5 A RET 1 T H|  0.057| 4,736.8
®A 2 T | 0.113] 5300.9|H e mT|  0.178| 3, 7640 A RMT 2 T H| 0.063| 59524
AT 3T H| 012 495.7|% BT 1 T A| 0125 1,760.0|AAKET 3 T H| 0.085| 583%.3
WA 4 T H| 0131 531300 BT 2 1 A| 0.105| 4,057\ HEET4 A  0.067| 3,179.1
w4 5 T H| 0110| 1,318.2% BT 3 T H| 0.075] 6,320.0/F /A AHK 1 T H| 0070 7,757.1
WA M6 T H| 0105 2324 BT 4 T H| 0.120 5005 FA AR KT 2 T H|  0.105| 6,104.8
WA 7T H| 0124 54214\ BT 1 T BA|  0.188| 4,24.8|BMANT 3 T H| 0.108| 6,666.7
FH 4 MT|  0.257| 6,430.7|[t B BT 3 T H| 0.462| 248928 A A BT 4 T H| 0.095| 5463.2
¥ BT 1 T H| 0.030] 4,90.0|f1 B% BT 4 1" H| 0.110| 6,554.5||S /A LET 1 1 A 0.076| 4,236.8
W BT 2 7 H| 0.081| 962.6]| N B7|  2.755 LIS EET 2 T H| 0.064| 5687.5
fEFHET 1 T B 0077 3,610.4|Hb A AET 1 T H| 0.399| 3,453.6|f%AAfBET 3 T H| 0.046| 6,369.6
£EE 2 T H| 0095 5763 AN 3 THl 1.355 19.2| SN 4 T H|  0.055| 7,400.0
& 0T 3 T H| 0068 6747HEI AR 4 T H| 0.121 24. 8|[78 5 KAl 5.440|  173.5
£HEE 4 T H| 0049 8204 1Hb#IAET 5 1" H| 0.086 34. 9| = | 2.831 98. 6
PN JA BT|  0.098| 5,632 7|5 UiN | 3.489 8.0/ 5 x| 4.025 51.9
x & BT|  0.045| 4,444.4|3 B ¥ 1 T H| 0.079| 8 025.3|[F = k| 5.514 63.7
P BT|  0.105| 5,47.6|2E B: 8 2 T H| 0.056| 7,214.3||# | 4.525 25.0
BEmpo1 T HB| 0.050| 7,860.0|1%€ W& B 3 T H| 0.057| 6,228 1|k B  5.905 23.7
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